CANSID 0O0O000O00O0 md-sedov

Joooooooogoogood

ver. 1

1 0000

0000000000000 000 (0000)00D000DU000o000oO00oUooOooooo

0100000 Cas ADDDDODOOOXOOO Chandra0 00000 VLAOMDMOOOOOOOOO
goo

000000000000 000 CasADDDODO XOOODODODOODOOODODODODODDODODODOOOOOOO
gbooobooooboobobooboosotboobooooboobbooboboboobbooboo
gboboobooobooobooboobooboobooo

goboob0 Xoooooooooooooboooobooooog soboobooboobooobonDo
gboooobooboooobooooboooboboboobboobooobooooboobobooboo
gbooooboooboobbooboboobbooobooobooboooboooboboboboboboo
O0000000oooovLAOOOOODOOOOoOOoOoooOoOOOOOOOOO0O0O0O00O0O0O0o0Oooooo
gbobogoooooooooobobobobobooboobobobobobooobobobobooooon
gboooboboobooboobooboobn

gboobooooooboboboboooooooooboboboboboobobooboobobobon
gboooboooboobooboobooboobn

gobooo

gboooobooobooobbobooobooobbooboobooboooboboobobooobo
gboooobooobooboooobooboooboobboobooobooobobobobbooboo
gboobogoooobobobobobooooooboooobobobobobobboboboooooaon
gboooboooboobooobooobooboboboobobooboobn



gobooo

gboobboboboboboboboboboboboobooobobooooooooobooaon
gboobobobobooboobooboboooooooooobbobooboboobobobooooon
gbooooboooobbooboobboooboooboooboobooboobbobbobboooboo
gboooobooobooobooboobobooboboobboobooobooboboobobbooboo
oooooooobobOoboobOobooo0obooooobDn0 gpbboboobonooDbO ppboboooboo
googbooboobooboboobobooobobobooboobooooboooobooboobo
gboooobooooboobboobooboboobbooboooboooboobobobobobooboo
gboobobobobobobobobobooobooooooooobobobobobobobobo
gooooooboooobobomooobooboooboooboooooboooboooDg

gobooo

gbooboooooooobobobooooooooboboboboobobooooooboobobobon
gboooboboooobooboboooboobbooboboobooooboobooboboobobooooobo
gboboooooobobgoobooboboboboboboooboooooooooboooooooon
gboboooooooooboobobobbooboobobooooooooboobobooooooon
gboobobooooboooooboboooobobobooboboboboboboobobbobbooon
gbobooooobooobobobobobobobobobooobobobooobobobooooooon
gbooboooboboboboooboboboboboboooooobobooooobooboboboobobobooo
gboobooooboboboooboboboooboboboobobboboobboboboooooaon
01/400000000000000000000OO

gbobooobooboboobboobobooboboobboobboobooboobboobboobn
gbooboooooooooobbobooooooooboooooooooboboboooooooon
gboboooooooboobooobooooooooooobobobobobobboboboooooaon
gbobooooooboobobooboobobobooobobobobooobobobobooboooon
gon

2 O00OOooooon

0000000000 () 000 10000000000000000000((R)000000000n
0000000000 ze[0,L)]00z=000000000000000000

0 0
5 (PS) + 5, (pVaS) =0 (1)
0 9 _ds
51 PVeS) + 5 (Ve +p)S] = p (2)
Of(p_ Lo O () L e _
5 [('y— 1 + 2pVgc> S] + o [('y— 1p+ 2pVx VeS| =0 (3)

gbobod~y0b00000D0O00ODOOO0ODOODOOObOOOn



gooobobbboooobbbbbooooouooo
S = a? (4)

good

3 O0ogg

0000000000000 00000000 100M0000000000000000 LO CgO
T0=L/Cs0000 LOCs 00000000¢t=0,2=0000000000000¢=0,z=0000
podpo 00000000

4 OUOO0OOOOOO

gboooboooboobooboobo

p=po, Vo=0 (5)
p=po[107%+ (1 = 107%) exp (—a” /w?)] (6)
0000000 w.0
doddd x=00xz=L00000
Op/0x =0, 0Op/dx=0, V,=0, (7)

5 O00O00OOO
01000

O000O0 00 0000
ooo ~y 1.4
oooo we/L  0.02
oooo L 1
oooo 0 1
oooo o 1
oooo Cso 1
0D1:000000000000

6 OOOO

000000 qde(l,1001]0000000000.0010



T oo

0000000000000 (0 2000)002000000000000000000000000 2
gboooboooboboboobboobboobbooobooboboobooboon

Pr De
1.0000 FrTTTTI T e § [T
. 4r |
0.1000 ¢
3L 1
0.0100
oL 1
0.0010
L
0.00071 Lt b b b b LB e b iy [} T FETETRTETE TR L
0. 0.4 0.0 0.1 0.2 0.3 0.4 0.4
Pr—scaled De—scaled
1.0 [T 10 [T T T
1.0 1.0 q q
0.8 0.8 q q
0.6 0.6 T T
0.4 0.4F B B
0.2 b 0.2 q q
0.0 it 1 1 1 L L 0.0L 1 1 1 1 A 1 | | | ! !

0.0 0.2 0.4 06 08 1.0 1.2 1.4 0.0 0.2 04 06 08 1.0 1.2 1.4 0.0 02 04 06 08 1.0 1.2 1.4

0 20000.

8 Logng

gboooboobobbooboon
gboooboooboboob



